Review
(#5-7)
1. (#5-3) In your own words explain the difference between the following.
5,060 marb es 5,000. marbles, 5 marbles?
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5,000 nieters and 5,000.00 meters, 5 meters?
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Complete the following problems using eor@({:t swmﬁca.nt figures. Please mdicate the number of

significant digits for each problem (#5-302d Ay @\ / ““ S
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Conversnons (#s-1y" :
9. Convert 524.0 cm to km. 52% . D ¢ i"% “

10. Convert 100.0 ft/sec to miles/sec

11. How many feet are in 105. meters? " '
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Chemical conversions (#5-1) 5 Ve
12. How much does 1 mole of CC2 to We1crh‘? _
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13. Ifyou had 40.0 grams of COy, do you have more or less then one mole?
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14. How many actnal molecules dz;e m e 40 Og sample of COa. - . .
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__ 15. Does a 36.36g sample of Ca have ‘ﬁore less or equal nur ‘5£r r of particles than the 40 Ocr -
OfCOgQ ’P ” :{;-’ e e q B . N ;

16. A 3.0E23 atoms of carbon has what mess? C g : A :
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Saffron costs $368.00 per ounce. (1 gram =2 teaspoons of saffron)
__17. Determine bow many grams you can purchase for $20.00:
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18. Ifyour ree1pe requn
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Balance this reaction. (Must show work with facter label in #14 and #15)
7 ANNOs); +_7 CaBr— - Ca(NOsp+ <. AlBrs
16. (#5-2) If 50. AI(NOs)s moiecuies were used in this reaction how many Ca(NOs)o and
AlBr; molecules are produced’7 e
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20. (#5-2) I 60. Ca(NOs)2 moleciﬁés are produced’ how many AI(NOs)s and CaBra

molecules are used in this reacuon‘? R
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